AN

TAOGLAS.

SPECIFICATION

Part No. : OMB.450.BO03F21

Description . Barracuda - 3dBi 450MHz-470MHz LTE Band 31/
CDMA /ISM Omni Directional Outdoor Antenna
with N Type Female Connector, U-Bolt, 523mm
Length

Features :  Omni-Directional Radiation Pattern
Collinear
3dBi Peak gain
Fiberglass Housing
Robust design for all weather operation
IP65 waterproof
Length: 523mm, Weight: 3509g
N Type Female connector
Wall/Pole Mount bracket included
RoHS compliant

SPE-16-8-021/D/WY Page 1 of 13



AN

TAOGLAS.

1.Introduction

The OMB.450.B03F21 is a 3dBi 450MHz~470MHz LTE Band 31 / CDMA/ ISM band fiberglass
omni-directional outdoor antenna. The antenna is designed for LTE and other CDMA and ISM
applications such as metering, industrial / environmental monitoring, remote asset
monitoring and mesh network applications.

The omni-directional antenna radiates uniformly in the azimuth. The collinear dipole array
design minimizes losses and provides the best performance because the antenna gives
maximum coverage range in the horizontal plane over 360 degrees, thus minimizing the
amount of nodes needed for a mesh network.

The UV resistant fiberglass housing enables the OMB antenna to be utilized in all kinds of
harsh environments, making it more robust and safer than traditional whip antennas. It can
be connected directly to the access point or telemetry unit, or can be mounted on wall/device

surface via the N-type connector.

A higher gain 6dBi model is also available, the OMB.450.B0O6F21.

SPE-16-8-021/D/WY Page 2 of 13



TAOGLAS.

2.Specification

ELECTRICAL

Standard CDMA 450

Band 450 ~ 470 MHz
Antenna Type Collinear Dipole Array
Peak Gain 3 dBi
Polarization Vertical
Impedance 50 ohms
Max Input Power 100 watts
VSWR 1.5:1
Radiation Omni-Directional
Vertical Beamwidth 67 Deg
Horizontal Beamwidth 360 Deg
Internal Material Copper
Connector N Type Female
Length 523 mm
Radome Diameter 24mm
Bracket Dimension 70 x 73mm
Antenna Weight 3509
Mounting Accessories
Weight 709
Application Indoor/Outdoor
Radome Material White Fiberglass
Bracket Material Aluminum
Mount Style Pole Mount/Wall Mount
Mount Hardware Material Stainless Steel
Wind Resistance >150mph (>241km/h)
Waterproof IP65

SPE-16-8-021/D/WY Page 3 of 13



b
TAOGLAS.

ENVIRONMENTAL

Storage Temperature -40°C to +85°C

Operating Temperature -40°C to +85°C
Operating Humidity 10%~90% non-condensing
Storage Humidity 5%~90% non-condensing

SPE-16-8-021/D/WY Page 4 of 13



P
TAOGLAS.

3.Antenna Characteristics

3.1 VSWR

WEWR

OMB.450

400 410 420 430 440 50 460 470 450 480 500 (MHz)

SPE-16-8-021/D/WY Page 5 of 13



b
TAOGLAS.

3.2 Peak Gain

E-plane
e E-Plane
Fil
.3 S ——
=
=
E 2
]
L)
1
D I I 1
445 455 465 475
Freq(MHz)
H-plane
= H-Plane
5
A
'-'_g‘ 3
=
€ 2
‘®
© 1
0 T T |
445 455 465 475
Freq(MHz)

SPE-16-8-021/D/WY Page 6 of 13



AN

TAOGLAS.

4. Antenna Radiation Pattern

4.1 Measurement Setup

Vertical Pattern — E plane

Horizontal Pattern — H plane

SPE-16-8-021/D/WY Page 7 of 13



TAOGLAS.

4.2 2D Radiation Pattern

Vertical Pattern - E plane

e, e 3
e "
2 -10
-15
/ ; -20
I |
180 30
— 430 MHz
— 433 MHz
—— 436 MHz
270
Horizontal Pattern — H plane
2 5
-5
-10
-15
-20
+-25
180! ES0EERE e
]
— 430 MHz
— 433 MHz
~—— 436 MHz
270

SPE-16-8-021/D/WY

Page 8 of 13



TAOGLAS.

5. Mechanical Drawing (Unit: mm)

ABS Cover

Glass Floar

Alumlnum

_1_

I L
o
_H
[
| | [
e !
N
M
] L |
i
o —
[Te! | |
_H -
R - "'\-\\\-._: - hk/
u | |
N
P24

531355

PR
2

54415 51435
70£3.5
o
.’_'
-
ﬂ
=

SPE-16-8-021/D/WY Page 9 of 13



U Bolt(M6x1.0)

TAOGLAS.

N Type(F)

o @
|
=
1340.6

Mbx 1.0

Detail A

‘ $2.9%05
11 e8.4%03
$13.703

5,/8"—~24UNEF—2A

4 340.3

Scale:Z:]

Detall C
Scale:4:1
Nut
i
Detail B
Scale:Z:
Name P/N Material Finish  |QTY
1 | OMB.450 Antenna | 001215A100021A| Fiberglass White 1
2 | Cover 000111K000021A ABS Sliver 1
3 | Bracket 000312B000021A Aluminum Silver 1
4 N Type(F) 201211K000021A Brass Ni Plated | 1
5 | M6 U Bolt 000412B000021A| Stainless Steel Sliver 2
6 | M6 Washer 000411K010021A| Stainless Steel Silver 4
7 | M6 Nut 000411K020021A| Stainless Steel Sliver 4

SPE-16-8-021/D/WY Page 10 of 13



6.Packaging

OMB.450.B03F21

Packaging Specifications

1 OMB.450.B03F21 per PE Bag
Bag Dimensions 130mm*650mm

1 PE Bag per Tube
Tube Dimensions - @80mm*Height 580mm

Total Weight - 750g

10 tubes per carton
Carton Dimensions - 590*410*180mm

Weight - 7.2Kg

Pallet dimensions 1200*1200*1410mm
40 Cartons per pallet

590mm

1500mm

585mm

080mm

TAOGLAS.

650mm

SPE-16-8-021/D/WY Page 11 of 13



b\
TAOGLAS.

7.Antenna Installation Guide

SPE-16-8-021/D/WY Page 12 of 13



AN

TAOGLAS.

Taoglas makes no warranties based on the accuracy or completeness of the contents of this document and

reserves the right to make changes to specifications and product descriptions at any time without notice. Taoglas

reserves all rights to this document and the information contained herein.

Reproduction, use or disclosure to third parties without express permission is strictly prohibited.

Copyright © Taoglas Ltd.

SPE-16-8-021/D/WY Page 13 of 13



@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

